KW

50



100

500

@ . _ﬂ 500 250
- 5

o IR #5n
_______ ST
=T ]»
20 R4 E HABES
)
Z%
— 30—
N _Emay
°C
20
180}
160}
140 e
120
100
80}
60|
40
20§
10 20 30 40 50 60 &
= [}
250
°C|
400
B e
300
g 200 B
100§
50}
0 510 15‘20;5 30 35 40 45 50 55 60 &
500
150
70
76 87
43% 30x 30 cm
250 500 500
120 mm 3. mm 50 mm 30 mm

90 mm



27 m/min

20

18 m/min
A M| AR~ 2
H H ERfEH| e -5 ~ i =
(HR#) (€ 323:0)]
4KWe — x ~ 14
® W O »n 1 1.5 L4AKWRIER1E &
[23:1
F o# ¢ M 40~55% 60~65%
® 5 & |14~15KWH|17~20KWH| 1 Bs4n
- ~ R
e -1 1 6 3 A
B E o #A o & 5 qRE
W R R ® B AOfE
% & & KB B r R
HOE B X X A

14




R iR AR R
S500W x 8 7 = 4KW
TFHS0W x 84 = 4KW

11



